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A, TRIETE hiE i STR-GRETh & TE-T

Roll No. riccrofciell

Candidates must write the Code on
the title page of the answer-book.

e FINTAWAFTWUF-THARATS 12 € |

o UYE.UF H IMMEA BT i 3R ST T FI TR ht B WYl & J&-I | o1 |

o FHUA T F A {6 T UA-UA H 27 WA € |

o HUAT Y HT 30X feTia T I H¥ | g, U T HHIH Havd o |

o I UH-UA Wl UgH & U 15 e &1 99 A T € | U0 & faeRon gened § 10.15 5
foFam SR 1 10.15 a1 § 10.30 ST 7% BT el WEH-UF H T S T 36 ok IR I
SI-YRTHT TR i T el ford |

e Please check that this question paper contains 12 printed pages.

¢ Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

¢ Please write down the Serial Number of the question before attempting it.

¢ 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

IS famm=

POLITICAL SCIENCE
e gaa 3 gue e i - 100

Time allowed : 3 hours Maximum Marks : 100
[ e

(i) @ geT AHarE &

(i) o7 G 1 - 5 7% Jed% 397 @ 37 3 & | Heah 797 &1 ST 20 9Is5) & 37feds 7@t &ir

TIRT |

(iii) To7 &1 6 — 10 T T9% 97 3t 3ehl &7 & | Tedes 797 o o040 T5] & 371 781
g1 =R |

(iv) T97 =7 11 — 16 TF T T97 =¥ 3l &7 & | J% 597 &7 397 100 J=T T 3w
7@ T T |

(v) 597 9= 17 T 21 T Hcd% J97 Giar 3l &7 & | ged% J97 &7 37 150 J15] T e
T&T 81T =T |
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(vi)

(vii) T G&I722 T 27 T Td% G99 & 37l B & | Gedo §97 & Fa¥ 150 I151 & e 781

7o G&I1 21 HAEA G IR J97 & | FYH S 3791 STR-YeTahr F [AEy |

&I =R |

General Instructions :

(i)
(ii)

(iii)

(iv)

(v)

(vi)

(vii)

All questions are compulsory.

Questions number 1 — 5 are of one mark each. The answers to these questions

should not exceed 20 words each.

Questions number 6 — 10 are of two marks each. The answers to these questions

should not exceed 40 words each.

Questions number 11 — 16 are of four marks each. The answers to these questions

should not exceed 100 words each.

Questions number 17 — 21 are of five marks each. The answers to these questions

should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your answer-
book.

Questions number 22 — 27 are of six marks each. The answers to these questions

should not exceed 150 words each.

1.  9Ra-®g 9= ! 69t U fafere fasivdr s Seoig iy |

State any one special feature of Indo-Russian friendship.

2. Tr=fefad B | i 91 SR §RT STHharg & fo6g 38 dfvesh J5 T eedr o1 2

(a)
(b)
()
(d)

FIT TR
afears ar

Which one of the following was a part of its global war on terrorism by the U.S. ?

(a)
(b)
()
(d)
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‘Operation Desert Storm’
Computer War
‘Operation Enduring Freedom’

Videogame War
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3. fod T SR g Ie <3y o fove o Rt ue am | g ot " B g9E fova &
fopdlt 3= AT | Y T@T ST HHATE | 1

Give any one example to show that events taking place in one part of the world could
have an impact on another part of the world.

4, 9RA 9 G e ST ATl Soil bl fereERT 491 Wl ¥ 2 1

What has been the ideology of left parties in India ?

T 3 & 2 1

How far is the demand for reservation beyond SCs, STs and OBCs justified ?

6. 1960 % TH U, T HEWIRTAl 1 SERT @ &g W HE0 a9 WA & fow, w9 g
AT W &eR 6 2 2x1=2

Starting in the 1960s, the two super powers signed which two significant agreements

to control arms ?

7. T SR %GR AT ARAE! §RT Wb a9 @ % &9 H 5@ T, & 09 Aei
T SEHT HIT bt T T o 9= g% | 2x1=2

Assess the commonly agreed upon two goals visualized by the Indians during the

national movement which have been fulfilled after independence.

8. gl (9) | XU TT et 1 G (37) H U T FAareti & A % W T HA B | 4x Vs =2

(30 )]
(a) ST TEIGT AT () ORAE ArERT T (ATFATR-AHaTaT)

EARSESIED

(b) T ASH IERE (i)  SLUHF, FH GUEH

(c) % ASFRR (iii) 1952 ¥ 1986 H Tog T ST WA T |
(d) STie T (iv) T SO fHqT & uiEg AR 3
e
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11.

12.

13.

14.
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Match the following leaders in List — A with the suitable statements in List — B :
List— A List- B
(a) Lal Bahadur Shastri (i) Founder of Communist Party of India
(Marxist-Leninst).
(b) C. Natarajan Annadurai  (ii)) Founder of D.M.K.

(¢) Charu Majumdar (iii) A Member of Parliament from 1952 till his
death in 1986.

(d) Jagjiwan Ram (iv) Coined the famous slogan ‘Jai Jawan — Jai
Kisan’.

39k fora #, 3R STFSYY WIfed TRt FaTeHehdT ol YGg I i [S¥ § Teh ek o7 372l
T 3T (oG g o TeT | 2

In your opinion, was Anandpur Sahib Resolution a plea for strengthening federalism
or a plea for separate Sikh nation ?

A STehietTaT | e &l S § SHehditen aTadid o ariehl bl HeR 1 3Teheid HITT |

Assess the role of democratic negotiations in responding to regional aspirations.

NI 3T TIIE % IR & Sl T FUH HINT | 4x1=4

Describe the four major objectives of ASEAN Economic Community.

TRUR GR&T Afd % Uh aw & &9 H TSaeH s-H § 7 0 € 2 T8d & arel ot

fared | 2+2=4

What is meant by alliance building as a component of traditional security policy ?
State its advantages.

TR o A W ST & [l TR ThRIcHeh JROTHT bl SR it | 4x1=4

Highlight any four negative consequences of globalization for the people of India.

TS o IR | faord & fow saeerl aRfefaal st e st |

Explain the circumstances that led to the accession of Hyderabad to India.
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15. T 9RA H IR ¥ e 376 b HASH & aiieh hd Sgeid & & ? R i T HifST | 4

How did the methods of voting in free India go on changing from time to time till day ?
Explain the reasons also.

16. 1979 T ST THR & e & [T STREM Tl I HRepT I [I9eATor HifT | 4x1=4
Analyse any four factors responsible for the downfall of the Janata Government in
1979.

17. T=fafEd STeaeor &1 eHYes TeadT IS dor 396 YR W KT M0 99 & 3
liglici

TRAT] I N A H T 9T R T HAH IS TS ok 3H F oot w4 § — 98 7
FHIAT o STHIG BT | 3R g 3T ¥ T STEHHIT F¥eh Sk TIHTV] BRI Sl AR A
T HITIRT FAT & T Ff T F I I TG B T SR 9 ST | I & 9el &+
U Uh-5E & qhlael 3 WER T T§dH i gt &a gial & fob g off uet 75 o
T FEl ISFT Al | 9 RE, WeWIodA % oid Ted Waggar e % aeng INads
IR FF T T Fal of Tl 3R 3T i St W | TRERE 3TRrey i feafey 7 g5
@ et &4 fea, oifer = et ureniies ufagisar 1 7 Ak Tt |

() TR & die Tedt UidaTgar sheet Iags &t Fi s+ W&l 2
(i) T RETO] VSTl & S e el YA i FuTges T et @l HehT 2
(iii) ‘3T’ & b H L HIT | 2+2+1=5

Read the following passage carefully and answer the questions that follow :

In the event of a nuclear war, both sides will be so badly harmed that it will be
impossible to declare one side or the other as the winner, even if one of them tries to
attack and disable the nuclear weapons of its rival, the other would still be left with
enough nuclear weapons to inflict unacceptable destruction. Both sides have the
capacity to retaliate against an attack and to cause so much destruction that neither
can afford to initiate war. Thus, the cold war — inspite of being an intense form of
rivalry between great powers — remained a ‘cold’ and not hot or shooting war. The
deterrence relationship prevents war but not the rivalry between powers.

(i) Why did intense rivalry between the super powers remain a cold war only ?
(ii)) Why can’t a nuclear war between the two nuclear powers be decisive ?

(iii)) Explain the logic of ‘deterrence’.
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18. M fSU T STeROT T AT eI HIOIT T 3T I LRI Y91 o I eI
gheqor URvT | oliehad 1 Nohis THet-S[en @7 & | 39 SaS[g QReToT URTEnE <9 St ST
SAIHE I ST H T & | 39 &7 % Ui 92 90 | 8161 & H Uh Foefor fohar man
o | WA | T AT ML g2 16 T Ural S | Alhad i AU -G08t & | 39
M H & o SR 9 & 3TH AR — A i 37T TS & SR WATTeTeh wiiehes i
Tt 1 GHAT HA © | T I b AT I Bl At AT UM Y ST oAl
FIFAT 5 & 3R A & 1o 37 320 & ol Aliher & 2 & | 3 oy a8 Tewaqul & itk
Tee! W T ST W& & o cArehes fa fower & €t 391 | Wel-%ed Tohell € | 39 fofer™ ¥ 39
T ZTT0T WeTaT o TR o STIVET W TAIheA i SifYerdh SheT T ST FET § |

(i)  UidMTegeTs cishas Sl CIhar Fl STEH I |

(i) cfeIoT WiRTEn & Ut ST I H AT H AE GHAT A & HROT 1 v
HIT |

(iii) 377 3T HU W Fel q%h Teqd & [ Ak hael [9e & &= 390 T & Fel-FeT Fehall
T 1+2+2=5

Read the passage given below carefully and answer the questions that follow :

Despite the mixed record of the democratic experience, the people in all these
countries of South Asia share the aspiration for democracy. A recent survey of the
attitudes of the people in the five big countries of the region showed that there is
widespread support for democracy in all these countries. Ordinary citizens, rich as
well as poor and belonging to different religions, view the idea of democracy
positively and support the institutions of representative democracy. They prefer
democracy over any other form of government and think that democracy is suitable
for their country. These are significant findings, for it was earlier believed that

democracy could flourish and find support only in prosperous countries of the world.
(i)  Assess the popularity of representative democracy.

(i1)) Analyse the reasons for the widespread support for democracy in the five big

countries of South Asia.

(ii1)) How far do you agree with the statement that democracy can flourish and find

support only in prosperous countries ?
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19. FAfcfEd STeaeer #t eHydes e T9T 39 9Y S U9 & 3T ST

T T Taerd T SRAT-UEY a1 e HRaTE 8l aial | 39k farid fohat Tmer

Tifed AN T -4 Tehsle 8T 3T GAM STUeTeT o Q1 Ush-dl JiT 33T ST € | 39

ATaER, TSI T Uk SBTH AT ol 30 SARIBRI I AR STITES ST i € alfeh A I8

TOE o oAlehe Bl GEATST T o F1-T SIS H bl © | YR o FHISTH ARTe a8

fel @ SaT Bt SRR S % 39 B § G & | U8 4 39 Sl J SAleha s ol oTe el

TEATT Siesh 3T R fhar ¥ |

(i) 3T % RO TR i faet ol U 31fueht o1 Sooi@ HifeT |

(i) 31T FEl T Teud & o QHISTH GG = SAlshes i STeT Tal Ygaml s STeh!
foeR fram & 2

(iil) ATeT I G TAT ST o Se T e ¢ 2 1+42+2=5

Read the passage given below carefully and answer the questions that follow :

Movements are not only about collective assertions or only about rallies and protests.
They involve a gradual process of coming together of people with similar problems,
similar demands and similar expectations. But then movements are also about making
people aware of their rights and the expectations that they can have from democratic
institutions. Social movements in India have been involved in these educative tasks
for a long time and have thus contributed to expansion of democracy rather than
causing disruptions.

(i) Mention any one right granted to the people of India as a result of any movement.
(i) How far do you agree that social movements have contributed to the expansion

of democracy rather than causing disruptions ?
(ii1)) What is the relationship between the movements and the democratic institutions ?

20. TE HA THATE Sl AT 3T F&t

S
T ST T H1E T LAYdH e DI T FEATArad We=T o 3T 11T
(i) A H TR 3R TS ATl TeaHT 3T 3GHT A feAf@y |
(i) T& e TS qAT UST | {5 UehR o Garell bt 90T € 2
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(iii) TSTOTST I T I & HH & [T IE ST TS AT FRT 3T 74T G, S0
T W, Fel o A & 2 1+2+2=5

Study the following cartoon carefully and answer the questions that follow :

Y v WY

3 \ 'L. lo No, Don't Get up
Xl your Highness. Just give
\ me this. That will do $‘
' {
= i /

\\"&»

" bty
External Affairs fyma
Defence o
¥ #9,4 Communication 8
R

This cartoon comments on the relation between - — |
the people and the rulers in the Princely States.

(1)  Identify and name the leader shown on the right in the cartoon.

(1) What type of relationship does the cartoon indicate between the people and the
ruler ?

(ii1)) In your opinion, how successful was the approach adopted by the leader on the
right to solve the issue of Princely States ?

AT FAfatEa we Fa gheartaa wienfém & o ueT T@m 20 & A W E
qﬁﬁﬁ‘?“@ﬁﬁﬁ?w%@:
20.1. SR T8 i Tecd! AEONEE § SY-ULTHT i o ?
20.2. TEHAUA W TR HH § gd, AT % TR ®l IRA TWHER FRI T
ST T 747 o7 9
20.3. ¥EUETE ST H F fomg ot 7 fom o foeg eI S SR AT ? 142+2=5

Note : The following question is for visually impaired candidates only in lieu of
Q. No. 20:

Answer the following questions :

20.1  Name the Deputy Prime Minister in the first Council of Ministers under
Jawaharlal Nehru.

20.2  Before signing the Instrument of Accession with the Indian
Government, what assurance was given to the Maharaja of Manipur ?

20.3  Which section of the people in Hyderabad rose against the Nizam and
why ?
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21.

WORLD
/ Political

Scale 1:179m (Approx)

g 5 § i i

L

o e

Pt P B

few T v & Tl Y@ aEte | O 3w (A), B), (©), (D) @ (B) 3% 59w 1@
£ | A M TSR & TR WS YT 7T S A, TET S T8 SRR
T AT WU 3T i &1 T8 AT o T H ST ST-GRAH 7 [oArau -

I HT AN

@
(ii)
(ii1)
(iv)
)

(i) & 397 ST S 1992 | gt GrierT gat o |

(i) T BT3T 14T o1 e Seqst-shdl 397 |

(ili) Sry-fored, a1 =S SRieH! & oy ST ST e a9 |

(iv) TSI-Ielhicr i aTeAarsti & qor T@T 74T 397 |

(v) Towa 5 @St der 1 3O TR 6 T T8 S S |
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J WORLD
/ Political

Scale 1:179m (Approx)

| gl

In the given political outline map of the world, five countries have been marked as
@, , @, @ and @ Identify these countries on the basis of information given

below and write their correct names in your answer book along with their respective
serial number of the information used and the concerned alphabets as per the

following format :

Serial No. of the information
used

Alphabet
concerned

Name of the
Country

(1)
(ii)
(i)
(iv)
)

(i) The country where ‘Earth Summit’ was held in June 1992.

(i1) A leading contributor to green house gas emissions.

(ii1)) A country known for its anti-dam pro-river movements.

(iv) A country exempted from the requirement of the Kyoto Protocol.

(v)  The second largest producer of crude oil in the world.

59/1/1
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e Ffefad we Hact gheattad Tent & foe 7w §@m 21 $ @H W E |
T QU 7T U % IR AT
21.1. ST I H AW fAREU ST 1987 | Aifeae FHT T B&d1eR T 7T |
21.2. 3 S H AW ARG ST 1997 H “Fotel Werhier W Tgard a1 |
21.3. “Trl & 3oGST % 9207 &6 U@ SRR faeiad <9 & & 17 I giteshior
tRRIRER AN
21.4 TR AR T HIF AT ST 3T I- SR & (AT ST ST € 2
21.5 THRIOT ST & ST S I Sooid HISTT S oA % HIE ST F T q9G
AT | 5x1=5

Note : The following question is for the Visually Impaired candidates only, in lieu of
Q. No. 21:

Answer the following questions :
21.1  Name the country where ‘Montreal Protocol’ was signed in 1987.
21.2  Name the country where ‘Kyoto Protocol’ was agreed upon in 1997.

21.3  Which country mainly advocated the view that the major responsibility
of curbing gas emissions rests with the developed countries ?

21.4  Which country from North America is known for its forest movements ?

21.5 Mention the South American country which is facing enormous
pressure due to deforestation.

22. YiagE HA H TE-RU AReH ¥ IR 7 fRE UER Hewyul gfwr fae 0 s

HIT | 6
areran

fova &1 TER TR T aAgH IMKIMA! 391, Wiioad Ta F41 foated gam 2 FiE S: RO T

FHINT | 6x1=6

How did India play a crucial role in the Non-aligned Movement during the Cold War
period ? Explain.
OR

Why did the Soviet Union, the second most powerful country in the world,
disintegrate ? Explain any six reasons.

23.  “3TFRIH HI HISET Ahd i U@ SHH! TGl-9g] 9 KT & 17 Thl i SUge el 5N 39

I Tl G (G BT | 3x2=6
arerat

U ol ol @ et o1 fageiyoT ST STt R HE S ek 3T TH @ TSI §h

T & foTT SRR & | 3x2=6

“The bedrock of contemporary U.S. power lies in the overwhelming superiority of its
military power.” Justify the statement with any three suitable arguments.

OR

Analyse any three major factors responsible for evolving the European Union from an
economic union to a political one.
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U Tl T AT oif¥ereh Jel &1 Ju BT e Hedsh a%1 5N e &9 § F1 6y

foT &1 =781 foran ST et | 3x2=6

AT

ST T ST YT ! TRk UROT & T SR & 2 3+3=6

Describe any three challenging global issues that can only be dealt with when
everyone works together.

OR
What is meant by traditional notion of internal and external security ?

1962 = T¥ETd YRA-9M Ha8i W) T THEl Sl foeersur Hitg |

AT
R ST forer i ol Iifqot &M § S0 A q°l RIS Tel ¥« WA § Fel Ah
qEA TET 2 IIME0T T T I |
Analyse the impact on Sino-Indian relations since 1962 onwards.

OR
How far has India been successful in conducting its foreign policy peacefully and
avoiding international conflicts ? Explain with the help of examples.

TR H T THR TAT AR & Sra T ol ST I STt FSABHAT T TR0 BT |

&C)
1969 T UIET o foRIIS & U9, HIUT UUMCH i JAATOT & foTT STRaml uRieidar s
fergetooT ST |
Examine the developments that gave rise to the conflict between the Union
Government and the Judiciary in India.

OR

Analyse the circumstances that led to the restoration of Congress System after the
Party’s split in 1969.

ST 3R TRl TG H R (TR a9 o 0 STEr g 791 Siiake [demsi

1 AU HIT | 3+3=6

arerat
TSl e B G & U, YRS Bl AT WG TG BIE arel [l i T

SEATEN T T BT | 3x2=6

Describe the external and internal disputes responsible for making the politics of
Jammu and Kashmir continuously controversial.

OR
Describe any three major developments that left a long lasting impact on the politics
of India after the death of Rajiv Gandhi.
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